
BUFFERING
THREAD

PROCESSING
THREAD

UPDATE
ACTIVE  EVENTS

IDENTIFY
NEW  EVENTS

FAIL

Get next pick from 
internal buffer

Get pick from 
shared memory

Store pick in 
internal buffer

Calculate arrival-
times at this site of 

various phases 
from nearby 

"active" events

Gather all recent 
unassociated picks

Filter out
glitch picks

Sum Stack
on space/time grid

Declare new event 
i, initial hypocenter 

at center of grid 
cell containing 

max. stack value

Associate this pick 
with event i
as phase x

Issue hypocenter 
message for 

updated event(s)

Relocate event i

Is the t.t.-residual 
of any phase <=  
the association 

threshold?

Is maximum stack 
value >= new 

event threshold?

# picks associated 
with event i 

between a and b?

Cull (unassociate) 
any phases with 

unacceptably high 
residuals?

Scavenge  
(associate) picks - 
only waifs or ones 
linked to events 

with fewer phases 
than event i -

that fit event i's 
traveltime curves?  

Run "Pick-Group 
Assessment"

Free (unassociate) 
outlying picks

Event i has very 
high rms or too 

few picks to locate. 
To kill event i,

free (unassociate) 
all of its phases.Associate with 

event i all picks 
which contributed 

to max. stack value

Y
E

S

Y
E

S
N

O
N

O
O

K
N

O

YES

YES

YES

NO

NO

Simplified Flowchart for Binder


